



Available online at <http://scik.org>

J. Math. Comput. Sci. 8 (2018), No. 5, 611-619

<https://doi.org/10.28919/jmcs/3762>

ISSN: 1927-5307

CONVERGENCE OF DERIVATIVE OF (0, 2) INTERPOLATORY POLYNOMIAL

SWARNIMA BAHADUR AND SARIYA BANO*

Department of Mathematics and Astronomy, University of Lucknow, Lucknow 226007, India.

Copyright © 2018 Bahadur and Bano. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract: In this paper, we consider the non-uniformly distributed zeros on the unit circle of n^{th} Legendre polynomial. Here, we are interested to establish the convergence theorem for the derivative of (0,2) interpolatory polynomial on the above said nodes.

Keywords: weight function; interpolatory polynomials; explicit representation; convergence.

1. Introduction

J. Suranyi and P.Turán [8] was first, who initiated the problem of Lacunary interpolation on zeros of

$$\Pi_n(x) = (1 - x^2)P'_{n-1}(x) ,$$

where, $P_{n-1}(x)$ is the Legendre polynomial of degree $(n - 1)$.The problem of (0,2) interpolation on the roots of unity was first studied by O. Kis [7]. He obtained its regularity, fundamental

*Corresponding author

E-mail address: sariya2406@gmail.com

Received June 6, 2018

polynomials and established a convergence theorem for the same. Later on several Mathematicians have considered the Lacunary interpolation on the unit circle. After that author¹ (with K. K. Mathur) [1] considered the weighted $(0,2)^*$ -interpolation on the set of nodes obtained by projecting vertically the zeros of $(1 - x^2)P_n(x)$ on the unit circle and established a convergence theorem for that interpolatory polynomial. Later on author¹ (with M. Shukla) [3] considered $(0,2)$ -interpolation on the nodes, which are obtained by projecting vertically the zeros of $(1 - x^2)P_n^{(\alpha,\beta)}(x)$ on the unit circle, where $P_n^{(\alpha,\beta)}(x)$ stands for Jacobi polynomial, obtained the explicit forms and establish a convergence theorem for the same. Recently, authors [2] considered weighted $(0,2)$ -interpolation on the nodes, which are obtained by projecting vertically the zeros of the $(1 - x^2)P_n'(x)$ onto the unit circle, established a convergence theorem for the same.

In 1990, K. Balázcs [5] proved the simultaneous convergence of the derivatives of Langrange interpolating polynomials by giving an estimate for $|f^{(i)}(x) - L_n^{(i)}(f, x)|$ ($i = 0, 1, 2, \dots, \dots$) by the aid of the Lebesgue constant of Lagrange interpolation. In 1993, K. Balázcs and T. Kilgore [6] considered the approximation of derivatives by interpolation. Also author¹ (with M. Shukla) [4], considered the convergence of the derivative of the Hermite interpolatory polynomial.

These have motivated us to consider the convergence of the derivative of the Lacunary interpolatory polynomial on the unit circle and established a convergence theorem. In section 2 we give some preliminaries and in section 3, we describe the problem. In section 4, we give the explicit formulae of the interpolatory polynomials. In section 5 and 6, estimation and convergence of interpolatory polynomials are given respectively.

2. Preliminaries

There are some well-known results in this section, which we shall use.

The differential equation satisfied by $P_n(x)$ is

CONVERGENCE OF DERIVATIVE OF (0, 2) INTERPOLATORY POLYNOMIAL

$$(2.1) (1 - x^2)P_n''(x) - 2xP_n'(x) + n(n+1)P_n(x) = 0$$

$$(2.2) W(z) = \prod_{k=1}^{2n} (z - z_k) = K_n P_n \left(\frac{1+z^2}{2z} \right) z^n$$

$$(2.3) R(z) = (z^2 - 1)W(z)$$

We shall require the fundamental polynomials of Lagrange interpolation based on the zeros of $W(z)$ and $R(z)$ are respectively given as:

$$(2.4) L_{1k}(z) = \frac{W(z)}{(z-z_k)W'(z_k)}, \quad k = 1(1)2n$$

$$(2.5) L_k(z) = \frac{R(z)}{(z-z_k)R'(z_k)}, \quad k = 0(1)2n+1$$

We will also use the following results

For $k = 1(1)2n$,

$$(2.6) \begin{cases} W'(z_k) = -\frac{1}{2}(1-z_k^2)P_n'(x_k)z_k^{n-2} \\ W''(z_k) = -K_n\{n(1-z_k^2) + z_k^2\}P_n'(x_k)z_k^{n-3} \end{cases}$$

For $k = 0(1)2n+1$,

$$(2.7) \begin{cases} R'(z_k) = (z_k^2 - 1)W'(z_k) \\ R''(z_k) = \frac{2[z_k^2 - n(1-z_k^2)]}{z_k} W'(z_k) \end{cases}$$

We will also use the following well known inequalities:

For, $-1 < x < 1$

$$(2.8) (1-x^2)^{1/4}|P_n(x)| \leq \sqrt{\frac{2}{\pi}} n^{-1/2},$$

$$(2.9) (1-x^2)^{3/4}|P_n'(x)| \leq \sqrt{2} n^{1/2},$$

$$(2.10) |P_n(x)| \leq 1,$$

Let $x_k = \cos\theta_k$ ($k = 1, 2, \dots, n$) are the zeros of n^{th} Legendre polynomial $P_n(x)$, with

$1 > x_1 > x_2 > \dots > x_n > -1$, then

$$(2.11) \quad (1 - x_k^2)^{-1} \sim \left(\frac{k}{n}\right)^{-2}$$

$$(2.12) \quad |P_n(x_k)| \sim k^{-1/2}$$

$$(2.13) \quad |P'_n(x_k)| \sim k^{-3/2} n^2$$

For more details, one can see [9].

3. The Problem:

Let, $Z_n = \{z_k: k = 0(1) 2n + 1\}$ satisfying:

$$(3.1) \quad Z_n = \begin{cases} z_0 = 1, & z_{2n+1} = -1, \\ z_k = \cos \theta_k + i \sin \theta_k, & z_{n+k} = \bar{z}_k, \quad k = 1(1)n, \end{cases}$$

are non-uniformly distributed zeros of unit circle, obtained by projecting vertically the zeros of $(1 - x^2)P_n(x)$, where, $P_n(x)$ stands for n^{th} Legendre polynomial having the zeros $\{x_k = \cos \theta_k : k = 1(1)n\}$, such that $1 > x_1 > x_2 > \dots > x_n > -1$.

Here we consider the interpolatory polynomial $Q_n(z)$ of degree $\leq 4n + 1$ satisfying the following conditions:

$$(3.2) \quad \begin{cases} Q_n(z_k) = \alpha_k, & k = 0(1)2n + 1, \\ [p(z)Q_n(z)]'_{z=z_k} = \beta_k, & k = 1(1)2n \end{cases}$$

where, α_k and β_k are arbitrary complex numbers and $p(z) = (z^2 - 1)^{1/2}$, $z \in C$. We establish a convergence theorem of the derivative of $Q_n(z)$ on the above said nodes.

4. Explicit Representation of Interpolatory Polynomials:

Let $Q_n(z)$ satisfying (3.2) [1]:

$$(4.1) \quad Q_n(z) = \sum_{k=0}^{2n+1} \alpha_k A_k(z) + \sum_{k=1}^{2n} \beta_k B_k(z)$$

where, $A_k(z)$ and $B_k(z)$ are fundamental polynomials of first and second kind respectively, each of degree at most $4n + 1$ satisfying the conditions :

For $k = 0(1)2n + 1$

$$(4.2) \quad \begin{cases} A_k(z_j) & = \delta_{jk}, & j = 0(1)2n + 1 \\ \left[(z^2 - 1)^{1/2} A_k(z) \right]''_{z=z_j} & = 0, & j = 1(1)2n \end{cases}$$

For $k = 1(1)2n$

$$(4.3) \quad \begin{cases} B_k(z_j) & = 0, & j = 0(1)2n + 1 \\ \left[(z^2 - 1)^{1/2} B_k(z) \right]''_{z=z_j} & = \delta_{jk}, & j = 1(1)2n \end{cases}$$

Theorem 4.1 [1, Theorem 2]: For $k = 1(1)2n$, we have

$$(4.4) \quad B_k(z) = z^{-n} W(z) \{ \alpha_k J_k(z) + \alpha_{0k} J_{10}(z) + \alpha_{1k} J_{11}(z) \}$$

where,

$$(4.5) \quad J_k(z) = \int_0^z t^{n-1} L_k(t) dt$$

$$(4.6) \quad J_{1j}(z) = \int_0^z t^{n+j-1} W(t) dt, \quad j = 0, 1$$

$$(4.7) \quad \begin{cases} \alpha_{0k} = \frac{\alpha_k}{2 J_{10}(1)} \{ J_k(1) + J_k(-1) \} \\ \alpha_{1k} = \frac{\alpha_k}{2 J_{11}(1)} \{ J_k(1) + J_k(-1) \} \end{cases}$$

$$(4.8) \quad \alpha_k = \frac{z_k}{2(z_k^2 - 1)^{1/2} W'(z_k)}$$

Theorem 4.2 [1, Theorem 3]: For $k = 0$ and $2n + 1$,

$$(4.9) \quad A_k(z) = \frac{z^{-n} W(z)}{K_n} \{ b_{0k} J_{10}(z) + b_{1k} J_{11}(z) \}$$

For $k = 1(1)2n$,

$$(4.10) \quad A_k(z) = L_k(z) L_{1k}(z) + b_k B_k(z) + z^{-n} \frac{W(z)}{W'(z_k)} \{ S_k(z) + b_{0k} J_{10}(z) + b_{1k} J_{11}(z) \}$$

where,

$$(4.11) \quad b_k = L_k''(z_k) - L_k'^2(z_k) - L_{1k}''(z_k) - 2L_k'(z_k)L_{1k}'(z_k) - 2z_k(z_k^2 - 1)^{-1}\{L_k'(z_k) - L_{1k}'(z_k)\} + (z_k^2 - 1)^{-2}$$

$$(4.12) \quad S_k(z) = \int_0^z t^n \frac{L_k'(z_k)L_k(t) - L_k'(t)L_k(z)}{(t-z_k)} dt$$

For $k = 1(1)2n$,

$$(4.13) \quad \begin{cases} b_{0k} = \frac{1}{2J_{10}(1)} \{S_k(1) + S_k(-1)\} \\ b_{1k} = \frac{(-1)^k}{2J_{11}(1)} \{S_k(1) - S_k(-1)\} \end{cases}$$

For $k = 0$ and $2n + 1$,

$$(4.14) \quad \begin{cases} b_{0k} = \frac{1}{2J_{10}(1)} \\ b_{1k} = \frac{(-1)^k}{2J_{10}(1)} \end{cases}$$

5. Estimation of Fundamental Polynomials:

Lemma 1: Let $L_{1k}(z)$ be given by (2.4). Then

$$(5.1) \quad \max_{|z|=1} \sum_{k=1}^{2n-1} |L_{1k}'(z)| \leq cn \sum_{k=1}^{2n-1} \frac{1}{k^{1/2}},$$

where, c is a constant independent of n and z .

Proof: Let $z = x + iy$ and $|z| = 1$,

$$\begin{aligned} \sum_{k=1}^{2n} |L_{1k}(z)| &\leq \sum_{k=1}^{2n} \left| \frac{W(z)}{(z-z_k)W'(z_k)} \right| \\ &\leq c \sum_{k=1}^{2n} \frac{|P_n(x)|(1-xx_k)^{\frac{1}{2}}}{(x-x_k)(1-x_k^2)^{1/2}|P_n'(x_k)|} \end{aligned}$$

using (2.10) - (2.11) and (2.13), we get the result.

Lemma 2: Let $B_k'(z)$ obtained by differentiating (4.4). Then

$$(5.2) \quad \sum_{k=1}^{2n} |p(z)B_k'(z)| \leq cn^{-1} \log n$$

where, c is a constant independent of n and z .

Proof: Differentiating (4.4), we get

$$\sum_{k=1}^{2n} |p(z) B'_k(z)| = \sum_{k=1}^{2n} \left[|p(z)W(z)| \{ |a_k| |J'_k(z)| + |a_{0k}| |J'_{10}(z)| + |a_{1k}| |J'_{11}(z)| \} + \{ n|p(z)W(z)| + |p(z)J'_k(z)| \} \right. \\ \left. + \{ |a_k| |J'_k(z)| + |a_{0k}| |J'_{10}(z)| + |a_{1k}| |J'_{11}(z)| \} \right]$$

using, (5.1) and (2.10)- (2.13), we get the result.

Lemma 3: Let $A'_k(z)$ be obtained by differentiating (4.9) ($k = 0, 2n + 1$) and (4.10) ($k = 1(1) 2n$).

Then

$$(5.3) \quad \sum_{k=0}^{2n+1} |p(z) A'_k(z)| \leq cn \log n,$$

where, c is a constant independent of n and z .

Proof: One can find (5.3), owing to conditions (2.8)-(2.13)

6. Convergence:

In this section, we prove the main theorem.

Theorem: Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z| < 1$. Let the arbitrary β_k 's be such that:

$$(6.1) \quad |\beta_k| = O(n \omega_2(f, n^{-1})), \quad k = 1(1) 2n$$

Then $\{Q'_n(z)\}$ defined by

$$(6.2) \quad [p(z) Q'_n(z)] = \sum_{k=0}^{2n+1} f(z_k) [p(z) A'_k(z)] + \sum_{k=1}^{2n} \beta_k [p(z) B'_k(z)]$$

satisfies the relation,

$$(6.3) \quad |p(z) \{Q'_n(z) - f(z)\}| = O(n \omega_2(f, n^{-1}) \log n),$$

where, $\omega_2(f, n^{-1})$ be the second modulus of continuity of $f(z)$.

Remark: Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z| < 1$, and $f' \in Lip \alpha, \alpha > 0$, then the sequence $\{Q'_n(z)\}$ converges uniformly to $f(z)$ in $|z| \leq 1$, which follows from (6.3) as :

$$(6.4) \quad \omega_2(f, n^{-1}) = O(n^{-1-\alpha}),$$

To prove the theorem (6.1), we shall need the followings:

Let $f(z)$ be continuous for $|z| \leq 1$ and analytic for $|z| < 1$. Then there exist a polynomial $F_n(z)$ of degree $\leq 4n + 1$, satisfying, Jackson's inequality.

$$(6.5) \quad |f(z) - F_n(z)| \leq c\omega_2(f, n^{-1}), \quad z = e^{i\theta} (0 \leq \theta < 2\pi)$$

And also an inequality due to O. Kiš[7].

$$(6.6) \quad |F_n^{(m)}(z)| \leq cn^m \omega_2(f, n^{-1}), \quad m \in \mathbb{N}^+.$$

Proof: Since $Q'_n(z)$ be a uniquely determined polynomial of degree $\leq 4n + 1$ and the polynomial $F_n(z)$ satisfying (6.5) and (6.6) can be expressed as:

$$F_n(z) = \sum_{k=0}^{2n+1} F_n(z_k) A'_k(z) + \sum_{k=1}^{2n} F'_n(z_k) B'_k(z)$$

Then,

$$\begin{aligned} |p(z)\{Q'_n(z) - f(z)\}| &\leq |p(z)\{Q'_n(z) - F_n(z)\}| + |p(z)\{F_n(z) - f(z)\}| \\ &\leq \sum_{k=0}^{2n+1} |f(z_k) - F_n(z_k)| |p(z)A'_k(z)| \\ &\quad + \sum_{k=1}^{2n} \{|\beta_k| + |F'_n(z_k)|\} |p(z)B'_k(z)| \\ &\quad + |p(z)\{F_n(z) - f(z)\}| \end{aligned}$$

using, (6.1)-(6.2), (6.4),-(6.5), (5.3) - (5.4), we get (6.3).

Conclusion: Convergence of (0,2) Interpolation on non-uniformly distributed zeros on the unit circle by derivative of polynomial is strong than the convergence of the derivative of (0,2) Interpolation on non-uniformly distributed zeros on the unit circle by the same polynomial.

REFERENCES

- [1] S. Bahadur and K. K. Mathur, Weighted (0, 2)*-interpolation on unit circle, *Int. J. Appl. Math. Stat.* 20 (2011),73-78.
- [2] S. Bahadur and S. Bano, On Weighted (0, 2) Interpolation, *Glob. J. Pure Appl. Math.* 13(2)(2017),319-329.
- [3] S. Bahadur and M. Shukla, (0, 2)-interpolation on unit circle, *Int. J. Adv. Res. Technol.* 3(1) (2014), 163-171.
- [4] S. Bahadur and M. Shukla, On the convergence of derivative of Hermite Interpolating Polynomial, *Int. J. Res. Stud. Sci.*, 3(2016), 9-13.
- [5] K. Balázs, On the convergence of the derivatives of Lagrange interpolating polynomials, *Acta. Math. Hung.*, 53(3-4)(1990), 323-325.
- [6] K. Balázs and T. Kilgore, Interpolation and Simultaneous mean convergence of derivatives, *Acta. Math. Hung.* 6 (11-2) (1993), 65-74.
- [7] O. Kis, Remarks on interpolation (Russian), *Acta. Math. Acad. Sci. Hung.* 11(1960), 49-64.
- [8] J. Suranyi and P. Turán, Notes on interpolation I, *Acta. Math. Acad. Sci. Hun.*, 6(1955), 67-79.
- [9] G. Szegő, *Orthogonal Polynomial*, Amer. Math. Soc. Coll. Publ., 1959.